Inverse Z-Transform :-

1) partial fraction Method

2) power service expansion Method (07) Long Driseon Method

steps :-

1) convert x(z) to the possible powers of z 2) Bring x(z) to x(z)/z3) Apply partial Fraction Method 4) Milliply with z 5) Take Inverse z-transform based on Roc

1) Find Inverse z-bransform $e_{1}^{2} X(z) = \frac{z+4}{z^{2}-4z+3}$ $X(z) = \frac{z}{(z+4)}$ $z(z^{2}-4z+5)$ $\frac{X(z)}{z} = \frac{z+4}{z(z+1)(z-5)}$

 $\frac{z+4}{z(z+)(z-3)} = \frac{d}{z} + \frac{B}{z-1} + \frac{C}{z-3}$ z+4 = d(z+)(z-3) + B(z)(z-3) + c(z)(z+1) $p_{1}t = 1$ $p_{1}t = 20$ $p_{1}t = 23$ 5 = B(-2) H = A(-1) - 3 F = C(3)(2) B = -5/2 d = -4/3 C = -4/6 C = -4/6 C = -4/6

 $X[z] = \frac{4z}{3z} - \frac{5z}{2(z+1)} + \frac{7z}{L(z-3)}$

 $x(h) = \frac{1}{3} S(h) - \frac{5}{2} u(h) + \frac{7}{6} (3)^{n} u(h)$ SNS College of Technology 16EC201/Signals and Systems/Unit IV Scanned by CamScanner Find the Inverse z-bransform of $x(z) = \frac{1}{(1+z^{-1})(1-z^{-1})^2}$

Roc : ZITI

$$X(z) = \frac{1}{(1+1/z)(1-1/z)^2}$$

Multiply & Divide by z²

$$\chi(z) = \frac{z^2}{z^2} \frac{1}{(1+1/z)(1-1/z)^2}$$

$$X(z) = \frac{1}{(z+1)(z-1)^2} \cdot \frac{z^2}{z^2}$$

$$\frac{\chi(z)}{z} = \frac{z^2}{(z+1)(z-1)^2}$$

$$\frac{z^{2}}{(z+1)(z-1)^{2}} = \frac{A}{z+1} + \frac{B}{z-1} + \frac{C}{(z-1)^{2}}$$

$$z^{2} = A(z-1)^{2} + B(z+1)(z-1) + C(z+1)$$

put z=1 1 = c(2)C=1/2

put
$$z = -1$$

 $I = A$ (4)
 $A = \frac{1}{4}$

put
$$z=0$$

 $0 = \frac{1}{4} + B(-1) + \frac{1}{2}$
 $B = \frac{3}{4}$

$$\frac{x(z)}{z} = \frac{1}{H(z+1)} + \frac{3}{H(z-1)} + \frac{1}{2(z-1)^2}$$

$$x(z) = \frac{z}{H(z+1)} + \frac{3z}{H(z-1)} + \frac{z}{2(z-1)^2}$$

 $x(b) = \frac{1}{4} u(b) + \frac{3}{4} u(b) + \frac{1}{2} h u(b)$

16EC201/Signals and Systems/Unit IV

Scanned by CamScanner